
7 lebxz - v"awg2011 xanv
a 15 1 dl`y
max z = 6x1 + 8x2

s.t : 5x1 + 2x2 ≤ 20

x1 + 2x2 ≤ 10

x1, x2 ≥ 0 :zil`e
d dirad
min w = 20y1 + 10y2

s.t : 5y1 + y2 ≥ 6

2y1 + 2y2 ≥ 8

y1, y2 ≥ 0:lawp .(dwlig digy s
a ze`lahd) .epl gep xzei ik zilnixtd dirad z` xeztp
z = 45

x1 = 2.5

x2 = 3.75 :didi zil`e
d diral oexztd
w = z = 45

y1 = 0.5

y2 = 3.5 .(y2e y1 eidi s2e s1 ly min
wnd)2 dl`y
max z = 2x1 + 2x2

s.t : 2x1 + x2 ≤ 16

3x1 + 2x2 ≤ 25

2x1 + 3x2 ≤ 25

x1 + x2 ≤ 16

x1, x2 ≥ 0 :zil`e
d dirad z` aezkp
min w = 16y1 + 25y2 + 25y3 + 16y4

s.t : 2y1 + 3y2 + 2y3 + y4 ≥ 2

y1 + 2y2 + 3y3 + y4 ≥ 2
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z = 20
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